Ref. No. <u>NTU/CE/2025/ 347</u>

Date: <u>July</u> <u>2</u> <u>2</u>, <u>2025</u>

Result Notification

The result of Bachelor of Science in Textile Engineering (Yarn Manufacturing), 10th Semester's (Spring-2025) Final Examination held in June 2025, is notified for the information of all concerned:-

S. No.	Registration No.	Student's Name	YM-4013 = Specialty Engineered Yarns Theory = 2-credits Grade	Specialty Engineered Yarns Credit Hours Theory = 2-credits		Grade Points SGPA		Remarks	Total Credits	Total Grade Points
1	20-NTU-TE-0002	Ghulam Sarwar Khan	-	-	-	-	-	R.L.(Dues)	-	-
2	20-NTU-TE-0019	Muhammad Ibraheem Khan	C+	2	4.66	2.33	2.44	Incomplete	137	334.26
3	20-NTU-TE-0178	Muhammad Haider Akram	-	-	-	-	-	R.L.	-	2
-			-	_	-	-	<u>-</u>			-

Errors & Omissions are accepted.

Repeated Course

Prepared By

Verified By

Ref. No. <u>NTU/CE/2025/ 348</u>

Date: <u>July</u> 22, 2025

Result Notification

The result of Bachelor of Science in Textile Engineering (Weaving), 10th Semester's (Spring-2025) Final Examination held in June 2025, is notified for the information of all concerned:-

S. No.	Registration No.	Student's Name	ME-2121 = Instrumentation & Control		CS-3072 = Computer Applications in Engineering Design	FM-4023 = Woven Fabric Testing and Quality Control	TE-3114 = High- Performance Fibers	Credit Hours	Grade Points	SGPA	CGPA	Remarks	Total	Total Grade
			Theory = 2-credits	Lab = 1-credit	Lab = 1-credit	Theory = 2-credits	2-credits	710410	Tomas				Credits	Points
			Grade	Grade	Grade	Grade	Grade							
1	20-NTU-TE-0023	Muhammad Shahbaz	-	-	F	_	_	1	0.00	0.00	2.29	Incomplete	136	311.02
2	20-NTU-TE-0028	Usama Adil	-	-	-	D	D	4	4.00	1.00	2.17	Incomplete	136	295.58
3	20-NTU-TE-0036	Hamail Fiaz	-	-	F	D	-	3	2.00	0.67	2.58	Incomplete	136	350.66
4	20-NTU-TE-0049	Muhammad Mubeen Ahmed	C-	C+	-	-	D	5	7.65	1.53	2.27	Incomplete	130	294.63
5	20-NTU-TE-0061	Talha Jameel	-	-		-	-	-	-	-	-	R.L.	_	_
-	<u>-</u>	-	-	-	-	-	-	-	-	-	-	<u>-</u>	-	-

Errors & Omissions are accepted.

Repeated / Dropped Course

Prepared By

Verified By

Ref. No. NTU/CE/2025/ 349

Date: July 22, 2025

Result Notification

The result of Bachelor of Science in Textile Engineering (Knitting), 10th Semester's (Spring-2025) Final Examination held in June 2025, is notified for the information of all concerned:-

S. No.	Registration No.	Student's Name	Com Applica Engin	072 = puter itions in eering sign	Credit Hours	Grade Points	SGPA	CGPA	Remarks	Total Credits	Total Grade
			Theory = 2-credits	Lab = 1-credit							Points
			Grade	Grade							
1	20-NTU-TE-0165	Shadab Islam	D	F	3	2.00	0.67	2.02	Incomplete	133	269.01
-	<u>-</u>	-	-	-	-	-	-	-	-		_

Errors & Omissions are accepted.

Dropped Course

Prepared By

Verified By

Ref. No. NTU/CE/2025/ 350

Date: July \mathcal{L} , 2025

Result Notification

The result of Bachelor of Science in Textile Engineering (Textile Processing), 10th Semester's (Spring-2025) Final Examination held in June 2025, is notified for the information of all concerned:

S. No.	Registration No.	Student's Name	TP-4032 ≃ Denim Manufacturing & Processing		PH-1002 = Physics-II	TE-3113 = Mechanics of Fibrous Structures		TP-3033 ≈ Textile Printing	Electrical & Electronic Systems	Testing &	PE-2102 = Polymer Engineering Fundamentals		Credit Hours	Grade Points	SGPA	CGPA	Remarks	Total Crédits	Total Grade	
						Theory = 1-credit	Lab = 1-credit	Theory = 2-credits	Theory = 2-credits	Theory = 3-credits	Theory = 3-credits	Theory = 2-credits	Theory = 3-credits 2-credits	liouio						Points
			Grade	Grade	Grade	Grade	Grade	Grade	Grade	Grade	Grade	Grade				<u> </u>		1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	\$10 m	
1	20-NTU-TE-0074	Atique ur Rehman	-	-	-	-	-	-	-	-	С	-	3	6.00	2.00	2.43	Degree Complete	136	330.56	
2	20-NTU-TE-0084	Muhammad Abdullah Moin	-	F./	-	-		-	B-	-	-	-	3	5.32	1.77	2.43	Incomplete	136	330,58	
3	20-NTU-TE-0086	Muhammad Ali Shahbaz	-	-	-	-	С	8+	-	-	-	-	6	15.99	2.67	2.61	Degree Complete	136	355.17	
4	20-NTU-TE-0089	Muhammad Bilal Shoukat	-	- 3 ° 3 ° 4 ° 5 ° 5 ° 5 ° 5 ° 5 ° 5 ° 5 ° 5 ° 5	-	-	D	-	-	-	-	-	4	3.00	0.75	2.19	incomplete	136	297.58	
5	20-NTU-TE-0092	Muhammad Hassan Kashif	-	F	-	-	-	-	F	C+	-	,	6	6.99	1.17	2.60	Incomplete	136		
6	20-NTU-TE-0098	Muhammad Talha Gadri	D	D	E	D		-	С		D	F	16	11.00	0.69	2.11	Incomplete	136	287.08	
7	20-NTU-TE-0099	Muhammad Zoraiz Daniyal	-	-	-	-		-	-	-	-	-	-	-	-	-	R.L.			
-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-			

Errors & Omissions are accepted.
Repeated / Dropped Course

Prepared By

Verified By

Ref. No. NTU/CE/2025/ 351

Date: <u>July</u> 22, 2025

Result Notification

The result of Bachelor of Science in Textile Engineering (Garment Manufacturing), 10th Semester's (Spring-2025) Final Examination held in June 2025, is notified for the information of all concerned:-

S. No.	Registration No.	Student's Name	GM-4041 = Garment Production Machinery GS-4071 = Compute Application in Engineerin Design		ENG-1092 = Gommunication & Presentation Systems (Industrial Internship	GM-4045 = Senior Design Project-II	Credit Hours	Grade Points	SGPA	CGPA	Remarks	Total Credits	Total Grade
			Lab = 1-credit	Theory = 2-credits	3-credits	3-credits	1-credit	3-credits					Credits	Points	
			Grade	Grade	Grade	Grade	Grade	Grade							
1	20-NTU-TE-0114	Bilal Nasir	B+	C+	<u>-</u>		-	B-	6	15.97	2.66	2.43	Incomplete	136	330.46
2	20-NTU-TE-0120	Hira Maqsood	-	-	-	-	B+	-	1	3.33	3.33	2.48	Incomplete	136	337.06
3	20-NTU-TE-0124	Mian Ali Burhan Tahir	-	-	_	C-	B+	B-	7	16.29	2.33	2.45	Incomplete	136	333.85
4	20-NTU-TE-0125	Mohammad Ahmad Saeed	-	-	D+	-	-	B-	6	11.97	2.00	2.43	Incomplete	136	330.24
5	20-NTU-TE-0132	Muhammad Ahmad	-	-	-	D	-	1	3	3.00	1.00	2.51	Incomplete	136	341.98
6	20-NTU-TE-0133	Muhammad Ahmar Tanveer	-	-	_	-	_	-	-	_	-	-	R.L.(Dues)	_	-
-	-	-1	-	-	-	-	_	-	-	_	-	-	-	_	-

Errors & Omissions are accepted.

Repeated / Dropped Course

Prepared By

Verified By

Ref. No. <u>NTU/CE/2025/</u> 352

Date: <u>July</u> 22, 2025

Result Notification

The result of Bachelor of Science in Textile Engineering Technology, 10th Semester's (Spring-2025) Final Examination held in June 2025, is notified for the information of all concerned:-

S. No.	Registration No.	Student's Name	TET-2067 = TT-Dyeing of Natural Fibers		TET-2070 = TT-Fabric Manufacturing Technology		TET-3063 = TT-Dyeing and Printing	Credit Hours	Grade Points	SGPA	CGPA	Remarks	Total Credits	Total Grade
			Theory = 2-credits	200	Theory = 2-credits		Theory = 2-credits	Hours					Credits	Points
			Grade	Grade	Grade	Grade	Grade							
1	20-NTU-TT-1517	Jawad Ahmad	F	F	F	C+	D	8	4.33	0.54	2.11	Incomplete	140	295.03
-	-	-	-	-	1	-	-	-	-	-	-	-	-	-

Errors & Omissions are accepted. Repeated / Dropped Course

Prepared By

Verified By